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les solucions correctes) :
a)
1 3
8010 x4 =210+ 14 X241 %6 = 8 (x=2): (x+1)%: (x=5)-(x= )
b)
15-X5467 x4 +6-X3-154-X2+75:X-9 => 15-(x—1)-(x+3)2-(x—%).(x_%)
<)
10-X7+61-x5-147-x5-1033-x4~55-x3+300-x2 => 10-x2-(x—4)-(x+5)2-(x—%)-(n%)
d)
20-x7+77-x5-74-x5-359 x4 +60 X7 +36-x2 => 20-x2-(x—2)-(x+3)2-(x—%).()ﬁ%)
e)
X7=3-x6-13-x5+9-x4+30-x = x3-(x-5)-(x+2)-(x-/3)-(x+1/3)
f
X45:x3-19-x2-25-Xx+70 => (x-2):(x+7)-(x~\/5) (x+/5)
g)
3x4-18-x7-45 X2 +132-x+252 = 3-(x-3):(x+2)2:(x-7)
h)
2:x5+2.x4-28-x3-56-X2+16-x+64 => 2-(x-1)-(x+2)3-(x-4)




